Andrews 77 7

TIAREE
20204£3 H 17 H

1 BM

%% 8T — 4% % Andrews 7 7 7 THHALT 5,

2 (ERE

import sys
sys.path.append("statlib")
from plot import Andrews_graph

Andrews_graph(dat, normalize=True, points=100, col=None, alpha=0.5)
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import numpy as np

import pandas as pd

import sys
sys.path.append("statlib")



from plot import Andrews_graph

data = pd.read_csv("data/iris.csv")

dat = np.array(data.iloc[:, 0:4])

col = np.repeat(["green", "blue", "red"], 50)
a = Andrews_graph(dat, col=col, alpha=0.2)

a = Andrews_graph(dat, normalize=False, col=col, alpha=0.2)
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